— Introduction

1. £#FNumpy 5SciPy

(1) f£/ Python %178
F LAY Python Z478 !
Enthought Python Distribution (EPD)
ActivePython (AP)
Python(x,y)
(2) Python Windows
Stepl : &% Python
T# https://www.python.org/downloads/release/python-2710/ |, 64 [ {EZ&
ZE % Windows x86_64 MSI installer, 32 {i2{ER L% F Windows x86 MSI
installer
WERE (RFIEFIKIAER)
Step 2 | REBEIESS pip
a. T # https://pypi.python.org/pypilpip/ , i£#¥ pip-8.1.1.tar.gz, fBE. Ko< 1T
# A dist\pip-8.1.1
b. i=1T python setup.py install
c. EXIFEEE PATH, i C:\Python27\Scripts
Step 3 | FHBEEERE numpy. scipy
NumPy 1 SciPy 7£ windows THEEZF &2 &k, SNAZFENEINER. IEOT
a. M http://www.Ifd.uci.edu/~gohlke/pythonlibs/ T #i#8x~ whl £ (T % python2.7
MeA cp27, 32 L T# win32, 64 L % win_amd64) FaRHE, FaLF IR
b. pip install wheel
c. pip install xxxxx.whl
Step 4 : TR HEAME
pip install pillow
pip install pandas
pip install -U scikit-learn
pip install matplotlib
pip install ipython
pip install pyreadline
(3) Python OS X
Step 1 : &% homebrew
{usr/bin/ruby -e "$(curl -fsSL
https://raw.githubusercontent.com/Homebrew/install/master/install)"
Step 2 : EH L% python
brew install python
Step 3 : &% pip
sudo easy_install pip
Step 4 : ZEHAME



pip install numpy

pip install scipy

pip install pillow

pip install pandas

pip install -U scikit-learn
pip install matplotlib

pip install ipython

—« Numpy

1. numpy #4155 python FIFREEXSEL

import numpy as np
# GIEX/N 10N g9
arr = np.arange(le7)
larr = arr.tolist()
def list_times(alist, scalar):

for i, val in enumerate(alist):

alist[i] = val * scalar

return alist
# Fi// \Python gy 774 timeit 1 Eiz 7767 /8]
timeit arr * 1.1
>>> 1 loops, best of 3: 76.9 ms per loop
timeit list_times(larr, 1.1)
>>> 1 loops, best of 3: 2.03 s per loop

2. BIBEAIRERIARE

(1) MFIRE R
alist=1[1, 2, 3]
arr = np.array(alist)
(2) np.arange()
arr = np.arange(100)
arr = np.arange(10,100)
(3) np.zeros()
arr = np.zeros(5)
np.zeros((5,5))
cube = np.zeros((5,5,5)).astype(int) + 1
cube = np.ones((5, 5, 5)).astype(np.float16)
arr = np.zeros(2, dtype=int)
arr = np.zeros(2, dtype=np.float32)
(4) reshape()
arrld = np.arange(1000)
arr3d = arrld.reshape((10,10,10))
arr3d = np.reshape(arris, (10, 10, 10))



(5) revel()
EA 5 reshape
(6) shape
BREIEN RO
arrld.shape
AR WEHEREREHMNNTRAZRZTTHENETER, DRI THIENSIA,
N—MEHENNER — MR,

3. iEEFH4A

(1) S REAFRE
recarr = np.zeros((2,), dtype=('i4,f4,a10")
HEIBEA /NG 2 BIICRELH, KB G4 FHEYH. A FEZRHHL0 FHFT
recarr[:] = [(1,2.,'Hello"),(2,3.,"World")]
(2) f&£H zip()
recarr = np.zeros((2,), dtype=('i4,f4,a10")
coll = np.arange(2) + 1
col2 = np.arange(2, dtype=np.float32)
col3 = ['Hello', 'World']
recarr[:] = zip(coll, col2, col3)
(3) A5 HIER
recarr.dtype.names = (‘Integers', 'Floats', 'Strings')
(4) % &7 EHE

recarr('Integers’)

4. Rs|MA

(1) numpy 27 KT matlab HRS|IFTI A
alist=[[1,2],[3,4]]

alist[0][1] #python Az
arr = np.array(alist)

arr[0,1] #ENITTE
arr[:,1] ## 13
arr[1,] #EL1 T

(2) np.where()
RIEZKHRMESIS
index = np.where(arr>2)
new_arr = arr[index]
new_arr = np.delete(arr, index)

] PUXFHRE

index = arr > 2 #HiFE— N EELA

new_arr = arr[index]

AR ETMIEREER, MATMA ‘~index” REFHHEE 5 index 18R
IR,



5. NumPy &4 RE{E

NumPy #4HT = o] BB ERIA N T ERVIRIE
i

# BIE Plot A BT 984

imgl = np.zeros((20, 20)) + 3

imgl[4:-4, 4:-4] = 6

imgl1[7:-7, 7:-71 =9

# FRRHBEAF2 A/ F6 mywEES
index1 =imgl > 2

index2 =imgl <6

compound_index = index1 & index2

# LS5 TR

compound_index = (imgl > 3) & (imgl < 7)
img2 = np.copy(img1l)
img2[compound_index] =0

# 722/ Plot B.

# BRI AEZEIRIE

index3 =imgl ==9

index4 = (index1 & index2) | index3
img3 = np.copy(img1)

img3[index4] = 0 # 7£%/ Plot C.

i
import numpy.random as rand
a = rand.randn(100)
index=a>0.2
b = afindex]
b=b*»*2-2
alindex] = b

6. EE#&E
(1) Python 35 XA M4+
f = open('somefile.txt', 'r") HIAR T T, vk
alist = f.readlines() HIE XA BBEANSZ, F—17h—NZFRTE
file f.close() # I 171 X 1F



f = open('newtextfile.txt', 'W") #/ {05 F{#THAX#, 'WEKEFRE

f.writelines(newdata) HENHIE

f.close() # X 1F] X 1F
AR EEREZEER AKX

(2) Numpy XHXHRS

Python 5 X4 X RATEBNERL, ERAXNEGLERAKXH. H30 4
RNEBEN, BARFH A NumPy 438, 5 numpy.ndarray 2 E/1&.

B

import numpy as np

arr = np.loadtxt('somefile.txt")

np.savetxt('somenewfile.txt")

WMRXGBFNEIBRBA—E, NFERPEHIEXE, NumPy FARRFEENX
£l recarray, T AALIE ndarray BRI TTIER N TTREITIRE. recarray #iEKE
TREEBERFAXAEAXMH, MRFZMTETRUER matplotlib.mlab L3R,

B
N 1{F example.txt KR T
XR21 32.789 1
XR22 33.091 2
EINAE
table = np.loadtxt('example.txt',
dtype='names": ('ID', 'Result', 'Type",
'formats": ('S4', 'f4', 'i2")
R R AR A ASCI 18X H), f# F Asciitable B85S E NS
(3) SIS

NAXHRIBEEFE, BRESEEMXHX/NEANEN Z# SIS, it

REPELIEE &6 A 2 HI X

i
import numpy as np
data = np.empty((1000, 1000))  #8/ZE— P A FIEH
np.save(‘test.npy’, data) HIRZEIE
np.savez(‘test.npz', data) #IE G R 7
newdata = np.load(‘test.npy') HIEN I
$EE - NumPy {8 B8 numpy.save F1 numpy.load 3k E = ¥ %130 4F, {8330 = 51 4
A BETE NumPy TEE, scipy.io o] PIAMEE @A #% XfﬁF
7. BEIBZH
(1) &MRE

NumPy #AEMZERRENNTRENEE, FERAZEFHITEREZE, T
X4 A numpy.dot F1 numpy.transpose 73 3SR #E TR REZZEMEREEE. il
ETENRERBER T WEIBERT.

NumPy g matrix K20 U EEBIzEHFS
5 - {55 A matrix f#771RAH

TiEH.



i

import numpy as np

A = np.matrix([[3, 6, -5], [1, -3, 2], [5, -1, 4]]) #FEXIEMHE
B = np.matrix([[12], [-2], [10]])

X=A*(1)*B #K A
print(X)

CEREBAERTTREA

import numpy as np

a = np.array([[3, 6, -5], [1, -3, 2], [5, -1, 4]])
b = np.array([12, -2, 10])

X = np.linalg.inv(a).dot(b)

print(x)

AR BANEEREER MBI T AEERAPRIFEEERE -, BWEREA.

—=. SciPy

L7

(1) BIREEMNE

SciPy &# curve_fit EHET KA EHTEMEREADT. TEH, EEER

f)=ax+b &R A BRENEE ABEEMA curv_fit kHl&.
Bl e

import numpy as np
from scipy.optimize import curve_fit
# BIEEZE K f(X)=ax+b
def func(x, a, b):
returna*x+Db
# TSR
x = np.linspace(0, 10, 100)
y = func(x, 1, 2)
# IR
yn =y + 0.9 * np.random.normal(size=len(x))
# EREHIE
popt, pcov = curve_fit(func, X, yn)
# BHRILSH
print(popt)



Bl S wIUE

# CIZERH
def func(x, a, b, c):
return a*np.exp(-(x-b)**2/(2*c**2))
# L TRAEE
x = np.linspace(0, 10, 100)
y =func(x, 1, 5, 2)
# IR
yn =y + 0.2 * np.random.normal(size=len(x))
# HWE
popt, pcov = curve_fit(func, X, yn)

(2) REOKE

1

SciPy g9 optimize it B XK ERIRECKE T H, fsolve EHH &

M REUK

from scipy.optimize import fsolve
import numpy as np

line = lambda x: x + 3

solution = fsolve(line, -2)

print solution

F A,



Bl RERBERR R
from scipy.optimize import fsolve
import numpy as np
# T RKERIRE
def findIntersection(funcl, func2, x0):
return fsolve(lambda x : funcl1(x) - func2(x), x0)
# AT ERE
funky = lambda x : np.cos(x / 5) * np.sin(x / 2)
line = lambda x : 0.01 *x - 0.5

x = np.linspace(0,45,10000)

result = findIntersection(funky, line, [15, 20, 30, 35, 40, 45])
# Fyi 5 R

print(result, line(result))

2. f&fE

(1) interpld

B © IEsZ R EiEE
import numpy as np
from scipy.interpolate import interp1d
# CIETFIEERIHIE
X = np.linspace(0, 10 * np.pi, 20) y = np.cos(X)
# 47/ linear #7 quadratic /518
fl = interpld(X, y, kind='linear")
fq = interpld(x, y, kind="'quadratic")
xint = np.linspace(x.min(), x.max(), 1000)



yintl = fl(xint)
yintq = fq(xint)

(2) UnivariateSpline

Bl . BEHIEREE
import numpy as np
from scipy.interpolate import UnivariateSpline
# CIBEE IR R 1510 (B
sample = 30
x = np.linspace(1, 10 * np.pi, sample)
y = np.cos(x) + np.log10(x) + np.random.randn(sample) / 10
# #EE, Z#s 24 smoothing factor
f = UnivariateSpline(x, y, s=1)
xint = np.linspace(x.min(), x.max(), 1000)
yint = f(xint)

(3) griddata

Bl FABEEMER
import numpy as np
from scipy.interpolate import griddata
# EX—TERH
ripple = lambda x, y: np.sqri(x**2 + y**2)+np.sin(x**2 + y**2)
# 4pEgrid 21E, EHEX T grid #HEL step, HE1ZE X step 245
grid_x, grid_y = np.mgrid[0:5:1000j, 0:5:1000j]
# A TF I ER R AR
Xy = np.random.rand(1000, 2)
sample = ripple(xy[:,0] * 5, xy[;,1] * 5)
# HHcubic 7 LEE



grid_z0 = griddata(xy * 5, sample, (grid_x, grid_y), method="cubic’)

FEF, EMAFRREYE ETNELRFRENER, ARABREENEE. £
BRESRE, EHRERNEALERNT.,
(4) SmoothBivariateSpline
Bl FABEEMER
import numpy as np
from scipy.interpolate import SmoothBivariateSpline as SBS
# EX R
ripple = lambda x, y: np.sqri(x**2 + y**2)+np.sin(x**2 + y**2)
# ERTFEEFA
xy= np.random.rand(1000, 2)
X,y = xy[:,0], xy[:,1]
sample = ripple(xy[:,0] * 5, xy[:,1] * 5)
# fhlE
fit= SBS(x * 5, y * 5, sample, s=0.01, kx=4, ky=4)
interp = fit(np.linspace(0, 5, 1000), np.linspace(0, 5, 1000))

7E& : SmoothBivariateSpline F i f&FRILLL Spline Fir—L, EREXNHFALIEEH
B—L, HEXME Spline EANEM .

3. R

SicPy AR BRI UAEETR >, SymPy 2— MRSRONTIRE.
(1) fBFRD
1

import numpy as np

from scipy.integrate import quad

# EXBRERE

func = lambda x: np.cos(np.exp(x)) ** 2



# R

solution = quad(func, 0, 3)

print solution

# BHERPE—HFARSE, - THRE
# (1.296467785724373, 1.397797186265988e-09)

(2) #ERD

1

import numpy as np

from scipy.integrate import quad, trapz

# Setting up fake data

X = np.sort(np.random.randn(150) * 4 + 4).clip(0,5)

func = lambda x: np.sin(x) * np.cos(x ** 2) + 1

y = func(x)

# Integrating function with upper and lower # limits of 0 and 5, respectively
fsolution = quad(func, 0, 5)

dsolution = trapz(y, x=Xx)

print(‘fsolution ="' + str(fsolution[0]))

print('dsolution = ' + str(dsolution))

print("The difference is ' + str(np.abs(fsolution[0] - dsolution)))
# fsolution = 5.10034506754

# dsolution = 5.04201628314

# The difference is 0.0583287843989.

4. geit

SciPy 1 3 mean, std, median, argmax, } argmin Z7ERNNE RS ITT R,

A numpy.arrays KE R E T KEBOGITRE, WETFFER.



il
import numpy as np
# A/ 2 1000 F95EYI#H
elements x = np.random.randn(1000)
mean = x.mean() HIgE
std = x.std() HEREE
var = x.var() H=E

SciPy FE BE T &M oH. BHEILR.

(1) EEMBRDH
SciPy 9 scipy.stats € E & 7 A 80 FiEL o mH 10 MBH 2 H. TEEHEH
(9 20 FELDHIMME R ERE, XE0H R HEHLEAKSB T numpy.random &%,

BILFHTTEKFEA scipy.stats FEA RS - ERZZRE (PDFs) . RRAHE
% (CDFs) . WYL EMH A (RVSs) . Aottt ®E (PPFs) &, TEETIRELES
DIEE, FETIITE XL



1

import numpy as np

import scipy.stats import norm

# EIBHAKH

x = np.linspace(-5,5,1000)

# REIEZ DS, loc h1fE, scale irfZE
dist = norm(loc=0, scale=1)

# 1FFIEZ 5Ky PDF 1 CDF

pdf = dist.pdf(x)

cdf = dist.cdf(x)

# 1R#E 5774 AL 500 TNEEYI#C

sample = dist.rvs(500)

o] LET SciPy.stats R EENEL D 4 KMETIE, BFEIBEEE XY, RILSH,

IUEMRD T ZHA . JLVEANHEREATHERLREE. TR AT maBE
DR (PMF)

1

import numpy as np

from scipy.stats import geom
# RE/LITHHIZH
p=0.5

dist = geom(p)

# KEFAKX/E

x = np.linspace(0, 5, 1000)

# 22117269 PMF F1CDF
pmf = dist.pmf(x)

cdf = dist.cdf(x)

# 4/ 500 TNEEHI#C
sample = dist.rvs(500)

(2) ®%

SciPy FF BT 60 MZEITE L., stats B EIE T EW kstest F1 normaltest & #y

HANR R, AREUHEAZERAERD G, 27 AEAXETREN, EXEHE
BREIER, BNTRESIREENNGS

i

B YN L

import numpy as np

from scipy import stats

# £ EFE 100 MRMIEZS 7 HIBEVI B FF X
sample = np.random.randn(100)

# A normaltest £ 48 E 15 1%

out = stats.normaltest(sample)
print('normaltest output’)

print('Z-score ="' + str(out[0]))

print('P-value ="' + str(out[1]))



# kstest E# 47 & K HJ Kolmogorov-Smirnov #252, X £ #f X IEZ D #7105,
#D ZKS ZIifEfyfE, #hir 0 #ir

out = stats.kstest(sample, 'norm’)

print(\nkstest output for the Normal distribution")
print('D =" + str(out[0]))

print('P-value ="' + str(out[1]))

# K o X E X Bt i, #I%0 Wald 757
out = stats.kstest(sample, 'wald")

print(\nkstest output for the Wald distribution")

print('D =" + str(out[0]))

print('P-value ="' + str(out[1]))

SciPy £y stats #RER FIRER it T — L FR ek 4, g0 J L1735 (gmean) (4R (skew) |
HAE (itemfreq) F.
B
import numpy as np
from scipy import stats
#4E B 6145 100 PNRMIEZS 7 HIBE VI 2L FF AR
sample = np.random.randn(100)
# EFIFIE, FHAEZAXT O
out = stats.hmean(sample[sample > 0])
print("Harmonic mean =" + str(out))
# i E-1 31 2 BRI 1E
out = stats.tmean(sample, limits=(-1, 1))
print(\nTrimmed mean ="' + str(out))
# ITERHARE
out = stats.skew(sample)
print(\nSkewness ="' + str(out))
# F# describe T[N — K45 H KR Z Fhti ok Gt 5 R
out = stats.describe(sample)
print("\nSize =" + str(out[0]))
print('Min = ' + str(out[1][0]))
print(‘Max =" + str(out[1][1]))
print('Mean ="' + str(out[2]))
print("Variance ="' + str(out[3]))
print('Skewness ="' + str(out[4]))
print('"Kurtosis = ' + str(out[5]))

SciPy f stats A EXFREZFIT TR, TINHERERZEHFTE. £ JUA RPy,
Bid Ef%E Python HiFA REFHITHIT 4T, IL5h, Pandas 2 python g§—~5&
ANITES, eTMEREIE L#THRENSITS .

5. Z[EFRENMT

SciPy B1FF scipy.spatial 2£F0 scipy.cluster (49 3 HF = @ FBE D, IERT
PBERZENEE, EEERERINFEREEN (vq) FIEXREK (hierarchy) .



(1) x££k (Vector Quantization)

RAEEURGESLE. BEEEMREFWEHBANANE. XEMNKTHARSEF

HIRZ F o

1

k BB K

import numpy as np

from scipy.cluster import vq

# £ REE

¢l = np.random.randn(100, 2) + 5

c2 = np.random.randn(30, 2) - 5

¢3 = np.random.randn(50, 2)

# VB HHEMN—1 180 x 2 F9#A

data = np.vstack([c1, c2, c3])

# FI K 2877511 BB KR T HITT %

centroids variance = vg.kmeans(data, 3)
Z & identified A7 K THIERELEE

|dent|f|ed, distance = vg.vg(data, centroids)

# B &5 LA

vqcl = data[identified == 0]

vqc2 = data[identified == 1]

vqc3 = data[identified == 2]

(2) BXREBK

BRBER— WE%E’] KT, BHAHERILRESR, FK KIHERFLEL

BRI RER. TAR—NERBEROBT, WA—TEBER, Hh b —PRIRE.,

Bl

# coding:utf-8

import numpy as np

import matplotlib.pyplot as mpl

from scipy.spatial.distance import pdist, squareform
import scipy.cluster.hierarchy as hy

# T BB R AR R
def clusters(number 20, cnumber=5, csize=10):
BEBRMEET 2
rnum = np.random.rand(cnumber, 2)
rn = rnumf[:, 0] * number



rn = rn.astype(int)

rn[np.where(rn <5)] =5

rn[np.where(rn > number / 2.)] = round(number / 2., 0)
ra=rnum[;, 1] * 2.9

ra[np.where(ra<1.5)]=1.5

cls = np.random.randn(number, 3) * csize

# Random multipliers for central point of cluster
rxyz = np.random.randn(cnumber - 1, 3)
for i in xrange(cnumber - 1):
tmp = np.random.randn(rn[i + 1], 3)
x = tmp[:, 0] + (rxyz][i, 0] * csize)
y =tmp[:, 1] + (rxyz[i, 1] * csize)
z =tmp[:, 2] + (rxyz][i, 2] * csize)
tmp = np.column_stack([x, y, z])
cls = np.vstack([cls, tmp])
return cls

# CIBIFRLEIERIE HAE %
cls = clusters()

D = pdist(cls[:, 0:2])

D = squareform(D)

# 220 Z AR E

fig = mpl.figure(figsize=(8, 8))

axl = fig.add_axes([0.09, 0.1, 0.2, 0.6])

Y1 = hy.linkage(D, method='complete")

cutoff = 0.3 * np.max(Y1[:, 2])

Z1 = hy.dendrogram(Y1, orientation="left', color_threshold=cutoff)
axl.xaxis.set_visible(False)

axl.yaxis.set_visible(False)

#2 T T EBHK B

ax2 = fig.add_axes([0.3, 0.71, 0.6, 0.2])

Y2 = hy.linkage(D, method='average')

cutoff = 0.3 * np.max(Y2[:, 2])

Z2 = hy.dendrogram(Y2, color_threshold=cutoff)
ax2.xaxis.set_visible(False)
ax2.yaxis.set_visible(False)

# BrEEEAEE
ax3 = fig.add_axes([0.3, 0.1, 0.6, 0.6])



idx1 = Z1['leaves']

idx2 = Z2['leaves']

D = D[idx1, ]

D =D[;, idx2]

ax3.matshow(D, aspect="auto’, origin="lower', cmap=mpl.cm.YIGnBu)
ax3.xaxis.set_visible(False)

ax3.yaxis.set_visible(False)

# REER, BTEAR
fig.savefig(‘cluster_hy_fOl.pdf', bbox = "tight")
mpl.show()

FLESMTETHRESZENES, BRESHMEEEX ST, &I fcluster
JIMRERERX &K, HadEREST linkage REFTXAMTIE, 40 complete
5 single &, EME NS HAIEHR{E. dendrogram FHEFHEKIANHEHER 0.7 *
np.max(Y[;, 2]), XE®EEH 0.3,

B

# SALEE_LBI—E, F# cluster E_L A

# K1 E L FEIE 5 I FR

def group(data, index):

number = np.unique(index)



groups = []

for i in number:
groups.append(datafindex == i])

return groups

# CIBEHIE
cls = clusters()
# 11 & kinkage #£ %
Y = hy.linkage(cls[:,0:2], method='complete')
# MEXEIEZZ I, F fcluster FEKE X 1947 % % flat clusters
cutoff = 0.3 * np.max(Y[:, 2])
index = hy.fcluster(Y, cutoff, 'distance")
# {ZH grooup R EHE X 7 K 7Y
groups = group(cls, index)
# BB IER
fig = mpl.figure(figsize=(6, 6))
ax = fig.add_subplot(111)
colors =['r','c', 'b', 'g', 'orange’, 'k', 'y', 'gray']
for i, g in enumerate(groups):
i = np.mod(i, len(colors))
ax.scatter(g[:,0], 9[:,1], c=colors[i], edgecolor="none’', s=50)
ax.xaxis.set_visible(False)
ax.yaxis.set_visible(False)
fig.savefig(‘cluster_hy_f02.pdf', bbox = "tight")
mpl.show()

6. (5SMERLE

SimPy TT IS5 AI4LEE JPEG #1 PNG S48 0E R, TEF A SimPy ¥ £ &EIE
REMS—8IER.

AEAPEBELZRNESN
http://stackoverflow.com/questions/9251580/stacking-astronomy-images-with-python

1



1

import numpy as np
from scipy.misc import imread, imsave
from glob import glob
# R A 2E8IPG E A
files = glob('space/*.JPG")
# FIAFE—TER
im1 = imread(files[0]).astype(np.float32)
# EIE R
for i in xrange(1, len(files)):

printi

im1 += imread(files[i]).astype(np.float32)
# RIFELR
imsave('stacked_image.jpg’, im1)

import numpy as np
from scipy.misc import imread, imsave
from glob import glob

#OIZER XS L P EI B A FE PR PR E LR A R AR L A

def chop_lighter(imagel, image?2):
sl = np.sum(imagel, axis=2)
s2 = np.sum(image2, axis=2)
index =s1 <s2
imagel[index, 0] = image2[index, 0]
imagel[index, 1] = image2[index, 1]
imagel[index, 2] = image2[index, 2]
return imagel
files = glob('space/*.JPG")
im1 = imread(files[0]).astype(np.float32)
im2 = np.copy(im1)

for iin xrange(1, len(files)):
print i



im = imread(files[i]).astype(np.float32)
iml +=im
im2 = chop_lighter(im2, im)

# BEHFRFER

imsave('stacked_image.jpg’, iml/iml.max() + im2/im2.max()*0.2)

=

& imread 1 imsave FEEZZE pillow €, pip install pillow
Python IRy JPG B F 183X 4 (426, 640, 3)89 NumPy #(4H (RGB)

7. WEAERE

NumPy 4032 10° R BIEIEEHAKREER, YEHIFEEIAT 10" RRIHEFFHEE
18, REZERG (AAEERBURTLEREREFAN) o HAIRBAMEEIESE, thin 10%
%5, BHEEREEREN 0N, TXARRELTEZNRSREMNE,
27~ | £ H data.nbytes T EEEIERT G =8 K/
Bl - FEME STRERAEFIZ EXT L

# coding:utf-8

import numpy as np

from scipy.sparse.linalg import eigsh

from scipy.linalg import eigh

import scipy.sparse

import time

N = 3000

# 2RV # G A

m = scipy.sparse.rand(N, N)

# eI B EIENEA

a = m.toarray()

print(The numpy array data size: ' + str(a.nbytes) + ' bytes")

print('The sparse matrix data size: ' + str(m.data.nbytes) + ' bytes’)

# HHRIFIEE

t0 = time.time()

resl = eigh(a)

dt = str(np.round(time.time() - t0, 3)) + ' seconds'

print('Non-sparse operation takes ' + dt)

# G RIFIEE

t0 = time.time()



res2 = eigsh(m)
dt = str(np.round(time.time() - t0, 3)) + ' seconds'
print('Sparse operation takes ' + dt)

EILENHREETAFRA. SFER. FENGT INE/EENEE. FIAH
scipy.io 2R 0]t 5 Matrix Market. Harwell-Boeing =} MatLab #& X A9 B %5 f45 2138 ~C
.

PO. SciKit : SciPy E#—

SciKit & SciPy Fy# 47, FiBid 20 M (WEBL 50) , EZEESN
https://scikits.appspot.com/scikits |, KEONBHEHFBE MEB® AT ZH ©  Scikit-
image (Lt scipy.ndimage TiEER AME F &) M Scikit-learn (F&FFEIE) .

1. Scikit-lmage

SciPy #y ndimage X BHEWLZHANITIR, TRATLAESHEE, flBEARLER
(WEHEE) « HEMZHR,. morphology. #EE. WEF. BETXEIEE, T
AIBFRE M. Scikit-image BI2ETXE, RHUTEFEMNIIE, FTEEREHE
B z=EEk. BRSEEBEL. BN, SHADESRTIER, HRE5E,
(1) S ERKR

RBEGTRERGLERREN, HARAEERKR (thresholding) . ZH#EHA
LEHTBRNEGRE S, EEATSNERMRAEMET . Scikit-image fEHEN
MEBERREARRBRXE BB, fBERREE.

TEA—EFXRIER. 267+, BRTPEFE—EHINEES, mESRIE
%5, N H Scikit-image kB EF .

Bl . BBRITR IR —EARTTEMBENTTAENEE
import numpy as np
import matplotlib.pyplot as mpl
import scipy.ndimage as ndimage
import skimage.filter as skif
# HIFHTERPERBER
x = np.random.uniform(low=0, high=100, size=20).astype(int)
y = np.random.uniform(low=0, high=100, size=20).astype(int)
# BRI TE =
func = lambda x, y: x**2 + y**2
grid_x, grid_y = np.mgrid[-1:1:100j, -2:2:100j]
bkg = func(grid_x, grid_y)
bkg = bkg / np.max(bkg)
# BB =
clean = np.zeros((100,100))
clean[(x,y)] +=5
clean = ndimage.gaussian_filter(clean, 3)
clean = clean / np.max(clean)



# FHIENERIEEE

fimg = bkg + clean

fimg = fimg / np.max(fimg)

# EXTFIERT R &R/ FHBEE &

block_size =3

# Adaptive threshold function which returns image map of structures that are
different relative to background

adaptive_cut = skif.threshold_adaptive(fimg, block_size, offset=0)

# Global threshold
global_thresh = skif.threshold_otsu(fimg)
global_cut = fimg > global_thresh

# Creating figure to highlight difference between adaptive and global threshold
methods

fig = mpl.figure(figsize=(8, 4))

fig.subplots_adjust(hspace=0.05, wspace=0.05)

ax1 = fig.add_subplot(131)
axl.imshow(fimg)

axl.xaxis.set_visible(False)
axl.yaxis.set_visible(False)

ax2 = fig.add_subplot(132)
ax2.imshow(global_cut)

ax2.xaxis.set_visible(False)
ax2.yaxis.set_visible(False)

ax3 = fig.add_subplot(133)
ax3.imshow(adaptive_cut)

ax3.xaxis.set_visible(False)
ax3.yaxis.set_visible(False)

fig.savefig(‘'scikit_image_f01.pdf', bbox_inches="tight")
mpl.show()



(2) EEBRAE
S5F—1EBEMN, FERLEHIEERFIXTZNERLER. XEFEH
skimage.morphology.is_local_maximum,
i
import numpy as np
import matplotlib.pyplot as mpl
import scipy.ndimage as ndimage
import skimage.morphology as morph
import skimage.feature as ft
# LRI T E R
x = np.random.uniform(low=0, high=200, size=20).astype(int)
y = np.random.uniform(low=0, high=400, size=20).astype(int)
# CIBIFYTER
func = lambda x, y: np.cos(x)+ np.sin(y)
grid_x, grid_y = np.mgrid[0:12:200j, 0:24:400j]
bkg = func(grid_x, grid_y)
bkg = bkg / np.max(bkg)

# BIETFIRAIN 5=

clean = np.zeros((200,400))

clean[(x,y)] +=5

clean = ndimage.gaussian_filter(clean, 3)
clean = clean / np.max(clean)

# BRI R R S EREE

fimg = bkg + clean

fimg = fimg / np.max(fimg)

fig = mpl.figure(figsize=(8, 4))
ax = fig.add_subplot(111)
ax.imshow(fimg)

# it EEEfRAXlE (7% 1)

#Im1 = ft.peak_local_max(fimg, indices=False)

#x1, yl = np.where(Im1.T == True)

# ax.scatter(x1, y1, s=100, facecolor="none', edgecolor="#009999")

#iTERESRAE (77%2)
Im1 = ft.peak_local_max(fimg)
ax.scatter(Im1[:,1], Im1[:,0], s=100, facecolor="none’, edgecolor="#009999'")

ax.set_xlim(0,400)
ax.set_ylim(0,200)
ax.xaxis.set_visible(False)
ax.yaxis.set_visible(False)



fig.savefig(‘'scikit_image_f02.pdf', bbox_inches="tight")
mpl.show()

AR R A skimage.morphology H #9 & £§ is_local_maximum kit & HEB& A E,

1Z R #L 7 scikit-image By 0.8 hk &K Jg iU AN\ skimage.feature #Ethd |, B A

peak_local_max HINgEBEFFE. BNINERAT, HREEABHERENLI: (B0

73k 2), MRiEBSE indices=False 3R E{&[E is_local_maximum —#¥ 475 /R ¥ 4R
(ZBRTTEL)  MMATEERTE—H.

1

import numpy as np

import pyfits

import matplotlib.pyplot as mpl
import skimage.exposure as skie
import skimage.feature as ft

# FHA fits FHIE A

img = pyfits.getdata('stellar_cluster.fits')[500:1500, 500:1500]
# [ R it

limg = np.arcsinh(img)

limg = limg / limg.max()

low = np.percentile(limg, 0.25)

high = np.percentile(limg, 99.5)

opt_img = skie.exposure.rescale_intensity(limg, in_range=(low, high))
# IR IR /AR R A (E

# Im = morph.is_local_maximum(limg)

Im = ft.peak_local_max(limg,indices=False)

x1, y1 = np.where(Im.T == True)

v = limg[(y1, x1)]

lim=0.5 HER LR A/ T 0.5 A9

X2, y2 = x1[v > lim], y1[v > lim]

fig = mpl.figure(figsize=(8,4))
fig.subplots_adjust(hspace=0.05, wspace=0.05)
ax1 = fig.add_subplot(121)
axl.imshow(opt_img)

axl.set_xlim(0, img.shape[1])

axl.set_ylim(0, img.shape[0])



axl.xaxis.set_visible(False)
axl.yaxis.set_visible(False)

ax2 = fig.add_subplot(122)

ax2.imshow(opt_img)

ax2.scatter(x2, y2, s=80, facecolor="none’, edgecolor="#FF7400")
ax2.set_xlim(0, img.shape[1])

ax2.set_ylim(0, img.shape[0])

ax2.xaxis.set_visible(False)

ax2.yaxis.set_visible(False)

fig.savefig(‘'scikit_image_f03.pdf', bbox_inches="tight")
mpl.show()

AR BT ERBERFAISLRE PYFITS, AFEE fits #r0AvEdE.
fits I E /o] 751X BB 5 ¢ T 2 http://fits.gsfc.nasa.gov/fits_samples.html

2. SciKit-Learn

(1) ZME

Bl - = RS/ Nk E T
import numpy as np
import matplotlib.pyplot as mpl
from mpl_toolkits.mplot3d import Axes3D
from sklearn import linear_model
from sklearn.datasets.samples_generator import make_regression
# 4 F G R B9 B
X,y = make_regression(n_samples=100, n_features=2,
n_informative=1,random_state=0, noise=50)
#X G ZHHIEY HE. B TR DB NG ESE X _train, y_train FE 4 X_test,
y_test
X_train, X_test = X[:80], X[-20:]
y_train, y_test = y[:80], y[-20:]

# EIEREISLH
regr = linear_model.LinearRegression()



# JIGEE

regr.fit(X_train, y_train)

# R

print(regr.coef_)

# [-10.25691752 90.5463984 ]

# N

X1 = np.array([1.2, 4])
print(regr.predict(X1))
# 350.860363861

# IR, Bt 3 PO B9 R E R RN2
print(regr.score(X_test, y_test))
# 0.949827492261

fig = mpl.figure(figsize=(8, 5))
ax = fig.add_subplot(111, projection='3d")
# ax = Axes3D(fig)

# RIS
ax.scatter(X_train[:,0], X_train[:,1], y_train, facecolor="#00CC00")
ax.scatter(X_test[:,0], X_test[:,1], y_test, facecolor="#FF7800")

# BHIG AR IR R
coef = regr.coef_
line = lambda x1, x2: coef[0] * x1 + coef[1] * x2

grid_x1, grid_x2 = np.mgrid[-2:2:10j, -2:2:10j]

ax.plot_surface(grid_x1, grid_x2, line(grid_x1, grid_x2), alpha=0.1, color="k")
ax.xaxis.set_visible(False)

ax.yaxis.set_visible(False)

ax.zaxis.set_visible(False)

fig.savefig('scikit_learn_regression.pdf', bbox="tight")

mpl.show()



(2) Bk

5] - DBSCAN J3/A8 %
import numpy as np
import matplotlib.pyplot as mpl
from scipy.spatial import distance
from sklearn.cluster import DBSCAN
# B
¢l = np.random.randn(100, 2) + 5
c2 = np.random.randn(50, 2)
# CE— YYD E R
ul = np.random.uniform(low=-10, high=10, size=100)
u2 = np.random.uniform(low=-10, high=10, size=100)
¢3 = np.column_stack([ul, u2])
# RFHHEEH AL 150 x 2 gyEA
data = np.vstack([c1, c2, c3])
# ZE2K.db.labels_ E#riRLIE AT /B R 510920
db = DBSCAN(eps=0.95, min_samples=10).fit(data)
labels = db.labels_

# RIRBIE LR BB BB 1EA), 7 AIFRIC A 0 F1 L, FRICH4-1 79 KR H
dbcl = data[labels == 0]

dbc2 = data[labels == 1]

noise = data[labels == -1]

x1, x2 =-12, 12
yl,y2=-12, 12

fig = mpl.figure()
fig.subplots_adjust(hspace=0.1, wspace=0.1)

axl = fig.add_subplot(121, aspect="equal’)
axl.scatter(c1[:,0], c1[:,1], lw=0.5, color="#00CCO00")
axl.scatter(c2[:,0], c2[:,1], Iw=0.5, color="#028E9B")
axl.scatter(c3[:,0], c3[:,1], lw=0.5, color="#FF7800")
axl.xaxis.set_visible(False)
axl.yaxis.set_visible(False)

axl.set_xlim(x1, x2)

axl.set_ylim(yl, y2)

axl.text(-11, 10, 'Original’)

ax2 = fig.add_subplot(122, aspect="equal’)

ax2.scatter(dbcl[:,0], dbc1]:,1], lw=0.5, color="#00CCO00")
ax2.scatter(dbc2[:,0], dbc2[:,1], Iw=0.5, color="#028E9B")
ax2.scatter(noise[:,0], noise[:,1], Iw=0.5, color="#FF7800")



ax2.xaxis.set_visible(False)
ax2.yaxis.set_visible(False)
ax2.set_xlim(x1, x2)

ax2.set_ylim(y1, y2)

ax2.text(-11, 10, 'DBSCAN identified")

fig.savefig('scikit_learn_clusters.pdf', bbox_inches="tight")
mpl.show()



